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Data presentation



Parameters

 Storage Modulus (StorM) * PF = Peak Force

e Loss Modulus (LossM) * BDA = Displacement amplitude

* Hardeness (Hard) * PL = preload

e Tan Delta (Tan) * RMS = Root mean square roughness

* Roughness
e Good (Green) if RMS <15 nm
e Ok (Orange) if RMS <30nm
e Bad (Red) if RMS >30 nm



Dynamic Indentation Parameters
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Data presentation content of good lines

1 set= 1 complet indentation line

By region: bone, cartilage, tendon, (fibrocartilage) interface or interbone (=interface periosteal cartilage)

For storage modulus and tan delta,
|.  comparison of histograms providing from each indentation line
Il.  Graph properties vs point position of each indentation line

By set
. Optical picture w/ & w/o dots
. Graph properties vs position
Ill.  Graph depth surface vs position
IV. Complet histogram of the line
V.  Graph properties vs indentation depth
VI. Individual histograms
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Storage Modulus Tan Delta
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A. Bone D1 11 points A=20um roughness Good

X Scalefmm] [055154 Y Scalejmm] [0.41366




A. Bone D1 11 points A=20um roughness Good
X Scalefmm] [0.55154 Y Scalejmm] [0.41366
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* No depth surface graph



A. Complet
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A. Complet
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Tan Delta [\]
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Bone A Point 1
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Bone A Point 3
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Bone A Point 6
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Bone A Point 9
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Bone A Point 10
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Bone A Point 11
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B. Bone D1 11 points A=20um roughness Good
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* No depth surface graph
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Bone B Point 5
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C. Bone D2 12 points A=20um roughness Good
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Tendon

A. Sample 3 roughness bad
B. Sample 3 roughness bad

C. Sample Ratto roughness bad

SPM bad so we can not trust the roughness measurements
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